Mul	[tip]	lying	bv	9	(A)
IVIU	up	Ly III S	Uy		( <b>11</b> )

Name:	Date:	Score:

Calculate each product.

 
$$9 \times 9 =$$
 $0 \times 9 =$ 
 $11 \times 9 =$ 
 $7 \times 9 =$ 
 $12 \times 9 =$ 
 $9 \times 9 =$ 
 $0 \times 9 =$ 
 $2 \times 9 =$ 
 $6 \times 9 =$ 
 $11 \times 9 =$ 
 $8 \times 9 =$ 
 $12 \times 9 =$ 
 $5 \times 9 =$ 
 $11 \times 9 =$ 
 $6 \times 9 =$ 
 $12 \times 9 =$ 
 $8 \times 9 =$ 
 $3 \times 9 =$ 
 $12 \times 9 =$ 
 $10 \times 9 =$ 
 $8 \times 9 =$ 
 $3 \times 9 =$ 
 $6 \times 9 =$ 
 $10 \times 9 =$ 
 $3 \times 9 =$ 
 $6 \times 9 =$ 
 $10 \times 9 =$ 
 $4 \times 9 =$ 
 $3 \times 9 =$ 
 $6 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $3 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $10 \times 9 =$ 
 $1 \times 9 =$ 
 $1 \times 9 =$ 
 $4 \times 9 =$ 
 $10 \times 9 =$ 
 $1 \times 9 =$ 
 $1$ 

$$8 \times 9 =$$
  $8 \times 9 =$   $1 \times 9 =$ 

$$1 \times 9 =$$

$$1 \times 9 = \square$$

$$1 \times 9 =$$

$$3 \times 9 =$$

$$1 \times 9 =$$

$$1 \times 9 =$$

$$2 \times 9 =$$

# Multiplying by 9 (A) Answers

Name:	Date:	Score:

Calculate each product.

 
$$9 \times 9 = 81$$
 $0 \times 9 = 0$ 
 $11 \times 9 = 99$ 
 $7 \times 9 = 63$ 
 $12 \times 9 = 108$ 
 $9 \times 9 = 81$ 
 $0 \times 9 = 0$ 
 $2 \times 9 = 18$ 
 $6 \times 9 = 54$ 
 $5 \times 9 = 45$ 
 $11 \times 9 = 99$ 
 $8 \times 9 = 72$ 
 $5 \times 9 = 45$ 
 $11 \times 9 = 99$ 
 $6 \times 9 = 54$ 
 $12 \times 9 = 108$ 
 $8 \times 9 = 72$ 
 $3 \times 9 = 27$ 
 $12 \times 9 = 108$ 
 $10 \times 9 = 90$ 
 $2 \times 9 = 18$ 
 $0 \times 9 = 0$ 
 $0 \times 9 = 9$ 
 $0 \times 9 = 90$ 
 $0 \times 9 = 90$ 
 $3 \times 9 = 27$ 
 $6 \times 9 = 54$ 
 $0 \times 9 = 90$ 
 $0 \times 9 = 36$ 
 $0 \times 9 = 36$ 
 $0 \times 9 = 36$ 
 $0 \times 9 = 0$ 
 $0 \times 9 = 36$ 
 $0 \times 9 = 0$ 
 $0 \times 9 = 36$ 
 $0 \times 9 = 9$ 
 $0 \times 9 = 9$ 
 $0 \times 9 = 36$ 
 $0 \times 9$ 

 $3 \times 9 =$ 

27

 $2 \times 9 =$ 

18

9

 $7 \times 9 =$ 

63

Mul	ltin	lying	by 9	(B)
IVI U	ւսբ.	Lymig	$\mathbf{U}\mathbf{y}$	$(\mathbf{D})$

Name: Date	: Score:	

Calculate each product.

 
$$6 \times 9 =$$
 $1 \times 9 =$ 
 $0 \times 9 =$ 
 $4 \times 9 =$ 
 $12 \times 9 =$ 
 $2 \times 9 =$ 
 $1 \times 9 =$ 
 $0 \times 9 =$ 
 $3 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $0 \times 9 =$ 
 $3 \times 9 =$ 
 $8 \times 9 =$ 
 $10 \times 9 =$ 
 $0 \times 9 =$ 
 $3 \times 9 =$ 
 $3 \times 9 =$ 
 $3 \times 9 =$ 
 $10 \times 9 =$ 
 $12 \times 9 =$ 
 $9 \times 9 =$ 
 $12 \times 9 =$ 
 $10 \times 9 =$ 
 $12 \times 9 =$ 
 $12 \times 9 =$ 
 $12 \times 9 =$ 
 $10 \times 9 =$ 
 $12 \times 9 =$ 
 $12 \times 9 =$ 
 $12 \times 9 =$ 
 $10 \times 9 =$ 

$$12 \times 9 =$$

$$9 \times 9 =$$

 $7 \times 9 =$ 

$$5 \times 9 =$$

$$12 \times 9 =$$

## Multiplying by 9 (B) Answers

Name: Date: Score:
Name: Date: Score:

Calculate each product.

$$6 \times 9 = 54$$
  $1 \times 9 = 9$   $0 \times 9 = 0$   $4 \times 9 = 36$   $12 \times 9 = 108$   $2 \times 9 = 18$   $1 \times 9 = 9$   $0 \times 9 = 0$   $3 \times 9 = 27$   $11 \times 9 = 99$   $10 \times 9 = 90$   $10 \times 9 = 90$   $0 \times 9 = 0$   $0 \times$ 

 $12 \times 9 =$ 

108

 $7 \times 9 =$ 

63

45

 $9 \times 9 =$ 

81

Mul	ltip	lying	bv	9	$(\mathbf{C})$
IVIU	up.	1 1 1118	Uy		$( m{\smile} )$

Name:	Date:	Score:

$$9 = \boxed{0 \times 9 = \boxed{}}$$

$$6 \times 9 = \boxed{ 11 \times 9 = \boxed{}}$$

$$1 \times 9 = \boxed{\qquad} 2 \times 9 = \boxed{\qquad}$$

$$2 \times 9 =$$

$$3 \times 9 =$$

$$11 \times 9 =$$

$$8 \times 9 =$$

# Multiplying by 9 (C) Answers

Name:	Date:	Score:

Calculate each product.

$$0 \times 9 = 0$$
 $12 \times 9 = 108$ 
 $4 \times 9 = 36$ 
 $0 \times 9 = 0$ 
 $6 \times 9 = 54$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $7 \times 9 = 63$ 
 $7 \times 9 = 63$ 
 $2 \times 9 = 18$ 
 $7 \times 9 = 63$ 
 $8 \times 9 = 72$ 
 $10 \times 9 = 90$ 
 $12 \times 9 = 108$ 
 $8 \times 9 = 72$ 
 $12 \times 9 = 108$ 
 $2 \times 9 = 18$ 
 $4 \times 9 = 36$ 
 $2 \times 9 = 36$ 
 $2 \times 9 = 36$ 
 $2 \times 9 = 36$ 
 $3 \times 9 = 27$ 
 $3 \times 9 = 27$ 
 $4 \times 9 = 36$ 
 $4$ 

Mul	ltin]	lying	bv	9	(D)
IVIU	up	Lyllig	U.y		$(\boldsymbol{\nu})$

Name:	Date:	Score:

Calculate each product.

 
$$8 \times 9 =$$
 $12 \times 9 =$ 
 $4 \times 9 =$ 
 $12 \times 9 =$ 
 $12 \times 9 =$ 
 $8 \times 9 =$ 
 $7 \times 9 =$ 
 $6 \times 9 =$ 
 $6 \times 9 =$ 
 $1 \times 9 =$ 
 $11 \times 9 =$ 
 $5 \times 9 =$ 
 $7 \times 9 =$ 
 $0 \times 9 =$ 
 $7 \times 9 =$ 
 $6 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $9 \times 9 =$ 
 $9 \times 9 =$ 
 $11 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $11 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $11 \times 9 =$ 
 $11 \times 9 =$ 
 $10$ 

$$2 \times 9 =$$

$$1 \times 9 =$$

## Multiplying by 9 (D) Answers

Name: Date: Score:
Name: Date: Score:

### Calculate each product.

Mul	[tip]	lying	bv	9	(E)
111 (1)	LLIP.	2,1118	Uy	_	$(\mathbf{L})$

Name:	Date:	Score:

Calculate each product.

 
$$6 \times 9 =$$
 $12 \times 9 =$ 
 $5 \times 9 =$ 
 $12 \times 9 =$ 
 $0 \times 9 =$ 
 $2 \times 9 =$ 
 $10 \times 9 =$ 
 $4 \times 9 =$ 
 $8 \times 9 =$ 
 $4 \times 9 =$ 
 $7 \times 9 =$ 
 $5 \times 9 =$ 
 $1 \times 9 =$ 
 $7 \times 9 =$ 
 $6 \times 9 =$ 
 $10 \times 9 =$ 
 $1 \times 9 =$ 
 $1 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $3 \times 9 =$ 
 $1 \times 9 =$ 
 $1 \times 9 =$ 
 $1 \times 9 =$ 
 $5 \times 9 =$ 
 $8 \times 9 =$ 
 $9 \times 9 =$ 
 $1 \times 9 =$ 
 $4 \times 9 =$ 
 $0 \times 9 =$ 
 $1 \times 9 =$ 
 $1 \times 9 =$ 
 $4 \times 9 =$ 
 $0 \times 9 =$ 
 $1 \times 9 =$ 

$$6 \times 9 =$$
  $4 \times 9 =$   $8 \times 9 =$   $3 \times 9 =$ 

 $3 \times 9 =$ 

$$0 \times 9 =$$

$$8 \times 9 = \boxed{\phantom{0}} 3 \times 9 = \boxed{\phantom{0}}$$

$$11 \times 9 =$$

## Multiplying by 9 (E) Answers

Name: Date: Score:
Name: Date: Score:

### Calculate each product.

Calculate each product.

$$6 \times 9 = 54$$
  $12 \times 9 = 108$   $5 \times 9 = 45$   $12 \times 9 = 108$   $0 \times 9 = 0$   $2 \times 9 = 18$   $10 \times 9 = 90$   $4 \times 9 = 36$   $8 \times 9 = 72$   $4 \times 9 = 36$   $7 \times 9 = 63$   $5 \times 9 = 45$   $1 \times 9 = 9$   $7 \times 9 = 63$   $6 \times 9 = 54$   $10 \times 9 = 90$   $3 \times 9 = 27$   $1 \times 9 = 9$   $12 \times 9 = 108$   $5 \times 9 = 45$   $5 \times 9 = 45$   $8 \times 9 = 72$   $8 \times 9 = 72$   $9 \times 9 = 81$   $4 \times 9 = 36$   $0 \times 9 = 0$   $0 \times 9 = 0$   $1 \times 9 = 9$   $9 \times 9 = 81$   $5 \times 9 = 45$   $3 \times 9 = 27$   $3 \times 9 = 27$   $3 \times 9 = 27$   $1 \times 9 = 9$   $12 \times 9 = 108$   $1 \times 9 = 9$   $12 \times 9 = 108$   $1 \times 9 = 9$   $1 \times 9 = 18$   $1 \times 9 = 9$   $1 \times 9 = 10$   $1$ 

 $11 \times 9 =$ 

99

 $4 \times 9 =$ 

36

27

 $8 \times 9 =$ 

72

Mul	ltip]	lying	bv	9	(F)
111 (1)	LUIP.	מייי ני	$\boldsymbol{\sigma}_{\boldsymbol{J}}$	_	ヽ・ノ

Name:	Date:	Score:

Calculate each product.

 
$$5 \times 9 =$$
 $7 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $12 \times 9 =$ 
 $10 \times 9 =$ 
 $5 \times 9 =$ 
 $1 \times 9 =$ 
 $7 \times 9 =$ 
 $6 \times 9 =$ 
 $10 \times 9 =$ 
 $5 \times 9 =$ 
 $11 \times 9 =$ 
 $8 \times 9 =$ 
 $11 \times 9 =$ 
 $3 \times 9 =$ 
 $11 \times 9 =$ 

$$12 \times 9 =$$

## Multiplying by 9 (F) Answers

Name:	Date:	Score:

### Calculate each product.

Mul	[tip]	lying	by 9	(G)
11101	101	- J D	0, 1	( )

Name:	Date:	Score:

$$9 \times 9 =$$

$$8 \times 9 =$$

$$3 \times 9 =$$

$$9 \times 9 =$$

$$8 \times 9 =$$

$$7 \times 9 =$$

# Multiplying by 9 (G) Answers

Name: \_\_\_\_\_ Date: \_\_\_\_\_ Score: \_\_\_\_

Calculate each product.

$$11 \times 9 = 99 \quad 8 \times 9 = 72 \quad 3 \times 9 = 27 \quad 0 \times 9 = 0 \\
9 \times 9 = 81 \quad 6 \times 9 = 54 \quad 0 \times 9 = 0 \quad 1 \times 9 = 9 \\
4 \times 9 = 36 \quad 1 \times 9 = 9 \quad 2 \times 9 = 18 \quad 2 \times 9 = 18 \\
10 \times 9 = 90 \quad 8 \times 9 = 72 \quad 6 \times 9 = 54 \quad 9 \times 9 = 81 \\
12 \times 9 = 108 \quad 4 \times 9 = 36 \quad 0 \times 9 = 0 \quad 12 \times 9 = 108 \\
7 \times 9 = 63 \quad 3 \times 9 = 27 \quad 9 \times 9 = 81 \quad 2 \times 9 = 18 \\
0 \times 9 = 0 \quad 11 \times 9 = 99 \quad 1 \times 9 = 9 \quad 8 \times 9 = 72 \\
8 \times 9 = 72 \quad 5 \times 9 = 45 \quad 4 \times 9 = 36 \quad 11 \times 9 = 99 \\
3 \times 9 = 27 \quad 9 \times 9 = 81 \quad 11 \times 9 = 99 \quad 4 \times 9 = 36 \\
1 \times 9 = 9 \quad 12 \times 9 = 108 \quad 10 \times 9 = 90 \quad 0 \times 9 = 0 \\
6 \times 9 = 54 \quad 2 \times 9 = 18 \quad 8 \times 9 = 72 \quad 5 \times 9 = 45 \\
5 \times 9 = 45 \quad 10 \times 9 = 90 \quad 12 \times 9 = 108 \quad 3 \times 9 = 27 \\
2 \times 9 = 18 \quad 7 \times 9 = 63 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \\
7 \times 9 = 63 \quad 0 \times 9 = 0 \quad 3 \times 9 = 27 \quad 6 \times 9 = 54 \\
9 \times 9 = 81 \quad 12 \times 9 = 108 \quad 7 \times 9 = 63 \quad 1 \times 9 = 9 \\
1 \times 9 = 9 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \quad 1 \times 9 = 9 \\
1 \times 9 = 9 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \quad 1 \times 9 = 9 \\
1 \times 9 = 9 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \quad 1 \times 9 = 9 \\
1 \times 9 = 9 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \quad 1 \times 9 = 9 \\
1 \times 9 = 9 \quad 5 \times 9 = 45 \quad 7 \times 9 = 63 \quad 10 \times 9 = 90 \\
5 \times 9 = 45 \quad 10 \times 9 = 90 \quad 12 \times 9 = 108 \quad 5 \times 9 = 45 \\
0 \times 9 = 0 \quad 6 \times 9 = 54 \quad 5 \times 9 = 45 \quad 1 \times 9 = 9 \\
12 \times 9 = 108 \quad 2 \times 9 = 18 \quad 11 \times 9 = 99 \quad 12 \times 9 = 108 \\
11 \times 9 = 99 \quad 4 \times 9 = 36 \quad 10 \times 9 = 90 \quad 0 \times 9 = 0 \\
4 \times 9 = 36 \quad 8 \times 9 = 72 \quad 4 \times 9 = 36 \quad 10 \times 9 = 90 \\
3 \times 9 = 27 \quad 1 \times 9 = 9 \quad 6 \times 9 = 54 \quad 2 \times 9 = 18 \\
6 \times 9 = 54 \quad 11 \times 9 = 99 \quad 9 \times 9 = 81 \quad 9 \times 9 = 81 \\
2 \times 9 = 18 \quad 7 \times 9 = 63 \quad 8 \times 9 = 72 \quad 8 \times 9 = 72$$

 $3 \times 9 =$ 

27

 $7 \times 9 =$ 

63

81

 $10 \times 9 =$ 

90

Mul	[tip]	lying	bv	9	(H)
IVIUI	up	Lyma	Uy		$(\mathbf{L}\mathbf{L})$

Name:	Date:	Score:

Calculate each product.

 
$$3 \times 9 =$$
 $8 \times 9 =$ 
 $2 \times 9 =$ 
 $12 \times 9 =$ 
 $6 \times 9 =$ 
 $4 \times 9 =$ 
 $2 \times 9 =$ 
 $12 \times 9 =$ 
 $1 \times 9 =$ 
 $11 \times 9 =$ 
 $0 \times 9 =$ 
 $0 \times 9 =$ 
 $10 \times 9 =$ 
 $1 \times 9 =$ 
 $0 \times 9 =$ 
 $0 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $0 \times 9 =$ 
 $0 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $0 \times 9 =$ 
 $0 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $0 \times 9 =$ 
 $0 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 
 $10 \times 9 =$ 
 $11 \times 9 =$ 

$$1 \times 9 =$$

$$5 \times 9 =$$

## Multiplying by 9 (H) Answers

Name:	Date:	Score:

Calculate each product. 
$$3 \times 9 = 27 \quad 8 \times 9 = 72 \quad 8 \times 9 = 72 \quad 2 \times 9 = 18$$

$$6 \times 9 = 54 \quad 4 \times 9 = 36 \quad 2 \times 9 = 18 \quad 12 \times 9 = 108$$

$$1 \times 9 = 9 \quad 11 \times 9 = 99 \quad 11 \times 9 = 99 \quad 0 \times 9 = 0$$

$$10 \times 9 = 90 \quad 1 \times 9 = 9 \quad 6 \times 9 = 54 \quad 2 \times 9 = 18$$

$$7 \times 9 = 63 \quad 0 \times 9 = 0 \quad 3 \times 9 = 27 \quad 4 \times 9 = 36$$

$$11 \times 9 = 99 \quad 7 \times 9 = 63 \quad 0 \times 9 = 0 \quad 0 \times 9 = 0$$

$$4 \times 9 = 36 \quad 10 \times 9 = 90 \quad 12 \times 9 = 108 \quad 5 \times 9 = 45$$

$$9 \times 9 = 81 \quad 8 \times 9 = 72 \quad 10 \times 9 = 90 \quad 1 \times 9 = 9$$

$$5 \times 9 = 45 \quad 3 \times 9 = 27 \quad 9 \times 9 = 81 \quad 10 \times 9 = 90$$

$$12 \times 9 = 108 \quad 2 \times 9 = 18 \quad 8 \times 9 = 72 \quad 6 \times 9 = 54$$

$$8 \times 9 = 72 \quad 5 \times 9 = 45 \quad 4 \times 9 = 36 \quad 11 \times 9 = 99$$

$$2 \times 9 = 18 \quad 9 \times 9 = 81 \quad 7 \times 9 = 63 \quad 3 \times 9 = 27$$

$$0 \times 9 = 0 \quad 6 \times 9 = 54 \quad 1 \times 9 = 9 \quad 12 \times 9 = 108$$

$$2 \times 9 = 18 \quad 12 \times 9 = 108 \quad 5 \times 9 = 45 \quad 9 \times 9 = 81$$

$$11 \times 9 = 99 \quad 5 \times 9 = 45 \quad 2 \times 9 = 18 \quad 7 \times 9 = 63$$

$$11 \times 9 = 9 \quad 12 \times 9 = 108 \quad 5 \times 9 = 45 \quad 9 \times 9 = 81$$

$$11 \times 9 = 99 \quad 5 \times 9 = 45 \quad 2 \times 9 = 18 \quad 7 \times 9 = 63$$

$$1 \times 9 = 9 \quad 12 \times 9 = 108 \quad 3 \times 9 = 27 \quad 8 \times 9 = 72$$

$$9 \times 9 = 81 \quad 6 \times 9 = 54 \quad 6 \times 9 = 54 \quad 6 \times 9 = 54$$

$$0 \times 9 = 0 \quad 0 \quad 0 \times 9 = 0 \quad 7 \times 9 = 63 \quad 12 \times 9 = 108$$

$$12 \times 9 = 108 \quad 3 \times 9 = 27 \quad 4 \times 9 = 36 \quad 8 \times 9 = 72$$

$$9 \times 9 = 81 \quad 6 \times 9 = 54 \quad 6 \times 9 = 54 \quad 6 \times 9 = 54$$

$$0 \times 9 = 0 \quad 0 \quad 0 \times 9 = 0 \quad 7 \times 9 = 63 \quad 12 \times 9 = 108$$

$$12 \times 9 = 108 \quad 3 \times 9 = 27 \quad 4 \times 9 = 36 \quad 8 \times 9 = 72$$

$$7 \times 9 = 63 \quad 10 \times 9 = 90 \quad 11 \times 9 = 99 \quad 10 \times 9 = 90$$

$$6 \times 9 = 54 \quad 7 \times 9 = 63 \quad 8 \times 9 = 72 \quad 0 \times 9 = 0$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times 9 = 45 \quad 9 \times 9 = 81 \quad 1 \times 9 = 99 \quad 10 \times 9 = 90$$

$$5 \times$$

 $5 \times 9 =$ 

45

 $7 \times 9 =$ 

63

9

 $10 \times 9 =$ 

90

Mult	tinl	ying	hv	9	(I)
IVIUI	սթւ	ymy	Uy	)	$(\mathbf{I})$

Name:	Date:	Score:
-------	-------	--------

Calculate each product.

 
$$9 \times 9 =$$
 $8 \times 9 =$ 
 $0 \times 9 =$ 
 $4 \times 9 =$ 
 $3 \times 9 =$ 
 $12 \times 9 =$ 
 $8 \times 9 =$ 
 $9 \times 9 =$ 
 $5 \times 9 =$ 
 $1 \times 9 =$ 
 $9 \times 9 =$ 
 $8 \times 9 =$ 
 $0 \times 9 =$ 
 $6 \times 9 =$ 
 $12 \times 9 =$ 
 $1 \times 9 =$ 
 $7 \times 9 =$ 
 $12 \times 9 =$ 
 $1 \times 9 =$ 

 <

$$2 \times 9 =$$

$$4 \times 9 =$$

$$0 \times 9 =$$

$$9 \times 9 =$$

$$5 \times 9 =$$

$$9 \times 9 =$$

## Multiplying by 9 (I) Answers

Name:	Date:	Score:

Calculate each product.

 
$$9 \times 9 = 81$$
 $8 \times 9 = 72$ 
 $0 \times 9 = 0$ 
 $4 \times 9 = 36$ 
 $3 \times 9 = 27$ 
 $12 \times 9 = 108$ 
 $8 \times 9 = 72$ 
 $9 \times 9 = 81$ 
 $5 \times 9 = 45$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $8 \times 9 = 72$ 
 $0 \times 9 = 0$ 
 $6 \times 9 = 54$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $1 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $1 \times 9 = 90$ 
 $1 \times 9 = 90$ 

 $5 \times 9 =$ 

45

 $9 \times 9 =$ 

81

81

 $9 \times 9 =$ 

 $0 \times 9 =$ 

0

Mul	tinl'	ying	hv	9 (	I	١
IVIU	$up_1$	yıııg	υу	・ノヽ	J	Į

Name:	Date:	Score:

Calculate each product.

 
$$5 \times 9 =$$
 $12 \times 9 =$ 
 $0 \times 9 =$ 
 $9 \times 9 =$ 
 $12 \times 9 =$ 
 $2 \times 9 =$ 
 $1 \times 9 =$ 
 $8 \times 9 =$ 
 $8 \times 9 =$ 
 $4 \times 9 =$ 
 $11 \times 9 =$ 
 $4 \times 9 =$ 
 $4 \times 9 =$ 
 $9 \times 9 =$ 
 $11 \times 9 =$ 
 $9 \times 9 =$ 
 $4 \times 9 =$ 
 $9 \times 9 =$ 
 $11 \times 9 =$ 
 $9 \times 9 =$ 
 $3 \times 9 =$ 
 $11 \times 9 =$ 
 $9 \times 9 =$ 
 $3 \times 9 =$ 
 $1 \times 9 =$ 

 $8 \times 9 =$ 

 $6 \times 9 =$ 

 $8 \times 9 =$ 

 $1 \times 9 =$ 

$$7 \times 9 = \boxed{\phantom{0}}$$
$$10 \times 9 = \boxed{\phantom{0}}$$

 $6 \times 9 =$ 

 $2 \times 9 =$ 

## Multiplying by 9 (J) Answers

Name:	Date:	Score:

Calculate each product.

 
$$5 \times 9 = 45$$
 $12 \times 9 = 108$ 
 $0 \times 9 = 0$ 
 $9 \times 9 = 81$ 
 $12 \times 9 = 108$ 
 $2 \times 9 = 18$ 
 $1 \times 9 = 9$ 
 $8 \times 9 = 72$ 
 $8 \times 9 = 72$ 
 $4 \times 9 = 36$ 
 $11 \times 9 = 99$ 
 $4 \times 9 = 36$ 
 $4 \times 9 = 36$ 
 $9 \times 9 = 81$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $3 \times 9 = 27$ 
 $3 \times 9 = 27$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $9 \times 9 = 81$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $9 \times 9 = 81$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 99$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $3 \times 9 = 27$ 
 $1 \times 9 = 9$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $12 \times 9 = 108$ 
 $6 \times 9 = 54$ 
 $6 \times 9 = 54$ 
 $11 \times 9 = 99$ 
 $12 \times 9 = 108$ 
 $10 \times 9 = 90$ 
 $10 \times 9 = 90$ 
 $11 \times 9 = 99$ 
 $12 \times 9 = 108$ 
 $10 \times 9 = 90$ 

63

 $10 \times 9 =$ 

Math-Drills.com

90

 $9 \times 9 =$ 

81

 $7 \times 9 =$ 

 $1 \times 9 =$ 

9